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QUESTION 1

Which command should be used to monitor free disk space on a vCenter Server Appliance?
A.df

B. esxtop

C. cloudvm-ram-size

D. vimtop

Correct Answer: A

Reference: https://kb.vmware.com/s/article/1003564?lang=ja

QUESTION 2

Which file extension can export host customization for host profiles?
A. xls

B. .xml

C. .csv

D. .json

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.hostprofiles.doc/
GUID-2E7398E2-1CF2-4448-96A3-1371B10936B1.html

QUESTION 3

A VSS is configured with two uplinks and assigned a load balancing policy route based on a virtual port ID. What are
two potential disadvantages of this configuration? (Choose two.)

A. A VM with a single MAC address is limited to the speed of the uplink associated with the relevant port ID.
B. Higher resource consumption compared to other load balancing algorithms will occur.

C. The virtual switch is unaware of uplink load and uplinks might become overloaded.

D. The NIC with less load is more likely to be chosen if port IDs match.

E. ESXi will use NIOC to attempt to mitigate network congestion when an uplink becomes saturated.
Correct Answer: AC

Reference: https://docs.vmware.com/en/VMware-
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vSphere/6.7/com.vmware.vsphere.networking.doc/GUIDA4F1BF4B-8199-45A1-9578-1E4B6B0O8DABO.html

QUESTION 4

An administrator manages a vSphere environment with the following configuration: HA enabled Admission Control
enabled based on fixed slot size 1 VM with a memory reservation significantly larger than the fixed slot size

The administrator notices that occasionally the VM with the memory reservation fails to restart during an HA host failure
event.

What could cause this to happen?

A. Failover capacity is exceeded due to the memory reservation

B. vMotion network needs more bandwidth to restart the reserved VM
C. VMs with reservations must be in their own dedicated cluster

D. DRS must be enabled when admission control is enabled

Correct Answer: A

QUESTION 5

What does ESXi Autoconfiguration do?

A. sets up host profiles

B. configures system network and storage devices
C. determines the number of hosts to be deployed
D. configures Auto Deploy

Correct Answer: B

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%2Fcom.vmware.vsphere.install.doc%
2FGUID-3A409297-517E-4E7D-99D0-DE41386911B3.html
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